[lepeyeHp OCHOBHBIX JAeTajel U y37I0B MUJIBI PYUHOU 3nekTpuueckoii quckoBor AI1-1,4-01 ‘

;I cand

Hox packiniHuBaroImmii

YT1Bepxkaaro
TexXHUYEeCKUI JUPEKTOP

AnuncenkoB O.A.

Havansuuk T.O. ITerpos B.I.

HHxeHEP-KOHCTPYKTOP

SxosenkoB 1.K.

IT. HaumenoBanue 10 | Konpgencarop 0,33 pF 250 V 1
1 | HInryp cereBoit L=2 M; 2x1 MM 11 | Buat M5x20 4
2 | TpyOxka 3amuTHas 12 | Iaii6a npyxunnas (D5) 4
3 | Bunr (4x16) camopes 13 | Ilati6a (D5) 4
4 | ITnacTvHA NPUKUMHAs 14 | Bunr (5x18) camopes 2
5 | Ilomypyuxa nmpaBast 15 | Kpslika Kopryca 3I1. JBHT. 1
6 | Ilomypyuka neBast 16 | Haxoneunuk B coope
7B 16 oo o1 | o oo | 2
8 | Bumr (4x21) camopes 17 | Lllerxa (5.9x9.9x13.5) 2
9 | Bexmouarens 10A 250V

1
UlInungens B coope | 3axum
Koneco 3yoduaroe (Z=35) 45 | 1llaii6a (96.5) 1
LITHH/EIb
46 | CrienualibHbIA BUHT 1
Kpsimka
47 |T'aiika M6 1
18 | lllerkonepskarens B cOope 32 | Bunr M5x10
18.1 | werkozxepareinb 33 | Tommmmmuk 6001Z (12x28x8) 48 | Bunt M6x35 1
18.2 | kopmyc meTKozepKaTeNs .
34 | Brmr M5x10 49 | [Maii6a cronopHas (D9) 1
19 | Kopmyc anmexkTponBuraTess N
20 | Crazop 35 | ®naneu BHyTpenHuit 50 |laiika cnenuanpHas 1
36 | @ i 51 | 3axum 1
21 | Hommmnauk 607 RS(7x19x6) MIAHCH BHEMHIH
N ] # . 1
22 | stxops 37 | Llaii6a (D 8.5) 52 |Ilaii6a (26.5)
38 | Bunr M8x16 i
23 | Mommmmmnx 6000 UHT Mox 53 | CnenuanbHbIi BUHT 1
RS(10x26x8) 39 | Ipyxuna (93x5x0.7) 54 | IInaropma 1
24 | lnadparma 40 | Koxyx moaBHKHBIN 55 | CrenmanbHbi BUHT 1
25 | Bunr (4x80) camope3 41 |Bunt Méx11
26 | Kopmyc penykropa B coope 42 | Ynop pe3uHOBBIi
26.1 | kopmyc peaykropa N
26.2 | Brynka (duap=12; dBuyrp=3) 43 | CrnienmanbHas raiika




